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Abstract

The on-site flow-control design in the IC fabrication is an innovative attempt. It
is different from the traditional framework which begins from resource planning,
needs management to major and minor production procedure, and practicesin
on-site flow-control technique. This research focuses on the highly-stuffed condition
and proposed some tactics to deal with the bottlenecks of the working system under
the on-site flow-control design. The main points include batch-flow,
first-come-first-serve method, interaction with the managing order design, block
thoughts of pre-managing load, and complement of returning outplanning wafers.
We draw thirteen dispatching flow charts related to the above-mentioned tactics. We
also use variable groups as the board for information and revised fifteen subroutines.
It's hoped that the research finding can facilitate the design of on-site flow-control

and further development of relevant technique in this respect.

Keywords |1C wafer fabrication, On-site flow-control design, bottlenecks, tactics,

flow charts, subroutines.
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B2 6 4 1 10% 4 . 90 % 40. 5
B3 7 8 1 15% 6 .57 8 % 3 825
B4 8 4 1 10% 4 . 90 % 40. 5
B5 9 4 1 10% 4 . 90 % 40. 5
Cl1 10 2 1 25 % 22.5 75 % 67.5
c2 11 2 2 20 % 9 80 % 36
C3 12 2 1 25 % 22.5 75 % 67.5
C4 13 2 1 25 % 22.5 75 % 36
D1 14 2 2 5 % 18 95 % 67.5
D2 15 1 4 5 % 18 95 % 67.5
D3 16 1 2 10% 9 90% 342
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1 [NI NI T. FOR

2 INWORKDON|E. FOR
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NUMB(10,2) = 11002

NUMB(11,1) = 11101

NUMB(11,2) = 11102

NUMB(12,1) = 11201

NUMB(12,2) = 11202

NUMB(13,1) = 11301

NUMB(13,2) = 11302

NUMB(14,1) = 11401

NUMB(14,2) = 11402

NUMB(15,1) = 11501

QQ(GROUP) =

NNNNONPENNWOONDWONDNPRE



NUMB(16,1) = 11601
NUMB(17,1) = 11701
NUMB(18,1) = 11801
NUMB(18,2) = 11802
NUMB(18,3) = 11803
NUMB(19,1) = 11901
NUMB(19,2) = 11902
NUMB(20,1) = 12001
NUMB(20,2) = 12002
NUMB(21,1) = 12101
NUMB(21,2) = 12102
NUMB(22,1) = 12201
NUMB(22,2) = 12202
NUMB(23,1) = 12301
NUMB(23,2) = 12302
NUMB(23,3) = 12303
NUMB(24,1) = 12401
NUMB(25,1) = 12501
NUMB(25,2) = 12502
NUMB(26,1) = 12601
NUMB(26,2) = 12602
NUMB(27,1) = 12701
NUMB(27,2) = 12702
NUMB(28,1) = 12801

khkkkkkkhkkhkhkkhkkkhkkhkhkkhkkkhkkk%x khkkkkkhkkkhkkhhkkkhkkhkkkhkkhkkkkx*x

Sss(2) =5
SSS(22) = 3
SSS(24) = 6

PPP(3) =0
PPP(23) = 2
PPP(25) = 0
PPP(26) = 2
PPP(27) = 4

NU1(2,1) = 10301
NU1(2,2) = 10302
NU1(2,3) = 12301
NU1(2,4) = 12302
NU1(2,5) = 12303

NU1(22,1) = 12301
NU1(22,2) = 12302
NU1(22,3) = 12303

NU1(24,1) = 12501
NU1(24,2) = 12502
NU1(24,3) = 12601
NU1(24,4) = 12602
NU1(24,5) = 12701
NU1(24,6) = 12702
khkkhkkkkhkhkkkhkhkhkhkkhkhdhkhkkrkkx khkkhkkhkkkkhkhkkkkhkhkhdhkhkkhhkixkx

TMACH(1) = 30
TMACH(2) = 30
TMACH(3) = 180
TMACH(4) = 240
TMACH(5) = 20
TMACH(6) = 10
TMACH(7) =30
TMACH(8) = 20
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TMACH(9) = 10
TMACH(10) = 20
TMACH(11) = 30
TMACH(12) = 30
TMACH(13) = 20
TMACH(14) = 30
TMACH(15) = 15
TMACH(16) = 30
TMACH(17) = 20
TMACH(18) = 15
TMACH(19) = 30
TMACH(20) = 30
TMACH(21) = 30
TMACH(22) = 30
TMACH(23) = 600
TMACH(24) = 30
TMACH(25) = 180
TMACH(26) = 240
TMACH(27) = 260
TMACH(28) = 60

khkkkkkkkkhkhkkhkkkhkkhkhkkhkkk*x

DO =1,27
TIMEEF() = 60

ENDDO

TIMEEF(28) = 360* 24* 60

RETURN

END

SUBROUTINE NWORKDONE(GROUP)
INCLUDE 'ICFAB.DCL'

kkkkkkhkkhkkhkkhkkhkhkkhkkhkkkkx*x

INTEGER GROURXXXY,I,JK,RGROURJJA,W,V,Q,XY,GP(28)

REAL TRN(12),X

GROUP = TRNSFR(3)

NMACH =

TRNSFR(4)

XXXY = NMACH

DO = 1, NGROUP
GP(1)=0

END DO
XY =0

DO = 1, LSIZE(JOB(GROUP))

CALL REMOVE(LFIRST,JOB(GROUP))

IF (TRNSFR(1) .EQ. XXXY) THEN

DO J=1, MAXATR

TRN(J) = TRNSFR(J)

END DO
IF (TRN(3) .LT. NTASKS(INT(TRN(2)))) THEN

TRN(3) = TRN(3) + 1

RGROUP = ROUTE(INT(TRN(2)),INT(TRN(3)))

GP(RGROUP) = 1

TRNSFR(1) = TIME
TRNSFR(2) = TRN(2)
TRNSFR(3) = TRN(3)
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100

[ TRNSFR(9) = TRN(9) ]
CALL FILE(LDECR,RGROUP)

DOK = 1,QQ(RGROUP)
A =1000*TRN(2) + TRN(3)
IF (NU(RGROUPK) .EQ. A ) THEN
=K
ENDIF
ENDDO
WAIT(NU(RGROUPRJJ)) = WAIT(NU(RGROUP,JJ)) + 1

V=0
DOK =19
W = 400000 + NU(RGROUPRJJ)* 10 + K
IF (TTT(W) .NE.0) THEN
V=K
ELSE
V=V
ENDIF
ENDDO

IF(V .EQ.0) THEN
/ TTT(400000 + NU(RGROURJ)*10+ 1) =TIME
ELSEIF(V .NE.0) THEN
IF ( (WAIT(NU(RGROUPRJJ)) - MMM(NU(RGROUPRJJ))

& - 12*(V-1)) .EQ. 1) THEN
IF(V .EQ.9) THEN

G = NU(RGROURJJ)

WRITE (6,100) G

FORMAT (‘Excess st lots of arecord time', F13.1)
STOP
ELSE

ENDIF
ENDIF
ENDIF

ELSE
Q=TRN(2)
IF (Q .EQ. 1) THEN
NWAFERL = NWAFERL + 1
ELSEIF(Q .EQ. 2) THEN
NWAFER2 = NWAFER2 + 1
ENDIF
TNWAFER = NWAFERL + NWAFER2
XY =1
ENDIF
ELSE
CALL FILE(LLAST,JOB(GROUP))
ENDIF
ENDDO

IF (XY .EQ.1) THEN
DO = 1,0RIMACHS(1)
IF (STATEL(NUMB(L,1)) .EQ. 0) THEN
NMACH = |
CALL NDISPATCH(1)
ENDIF
ENDDO
ELSE
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/ DO =1, NGROUP \

IF (GP(1) .GT. 0) THEN
DO J = 1,0RIMACHS()
IF (STATEL(NUMB(,9)) .EQ. 0) THEN
NMACH =J
CALL NDISPATCH(I)
ENDIF
ENDDO
ENDIF _//
ENDDO
ENDIF

IF (NMWT(NUMB(GROUPXXXY)) .GE. TMACH(GROUP) ) THEN
STATEL(NUMB(GROUPXXXY)) = 0
NMACH = XXXY
CALL NDISPATCH(GROUP)

ELSE
STATEL(NUMB(GROUPXXXY)) = 2

200 X = EXPON(MAC(GROUP),RANDOM 1)
IF (X .LE. 0.455* MAC(GROUP)).OR.(X .GE. 2*MAC(GROUP))) THEN
GOTO 200

ENDIF

TRNSFR(1) = TIME + X

TRNSFR(2) = 2.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

NMACHS(GROUP) = NMACHS(GROUP) - 1
ENDIF

DO = 1,0RIMACHS(GROUP)
IF ( STATEL(NUMB(GROUPI)) .EQ. 0) THEN
NMACH =
CALL NDISPATCH(GROUP)
ENDIF
ENDDO

RETURN
END

SUBROUTINE NWORKDONE1(GROUP)
INCLUDE 'ICFAB.DCL'

INTEGER GROUPXXXY,,JXY,RGROUPA JJ
REAL TRN(12),X

GROUP = TRNSFR(3)
NMACH = TRNSFR(4)
XXXY = NMACH

DO = 1, LSIZE(JOB(GROUP))
CALL REMOVE(LFIRST,JOB(GROUP))
IF (TRNSFR(1) .EQ. XXXY ) THEN
DO J=1, MAXATR
TRN(J) = TRNSFR(J)
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200

ENDDO

TRN(3) = TRN(3) + 1
RGROUP = ROUTE(INT(TRN(2)),INT(TRN(3)))
TRNSFR(1) = TIME
TRNSFR(2) = TRN(2)
TRNSFR(3) = TRN(3)
TRNSFR(7) = TRN(5)
TRNSFR(8) = TRN(6)
TRNSFR(9) = TRN(9)
XY = TRN(5)
IF ( STATEL(NUMB(RGROUPXY)) .EQ. 2) THEN
IF (GROUP .EQ. 28) THEN
FAU28=1
TRNSFR(11) = 2
TRNSFR(7) =0
ELSE
TRNSFR(11) = 1
ENDIF
ELSE
WAIT2(NUMB(RGROUPXY)) = WAIT2(NUMB(RGROUPXY)) + 1
ENDIF
CALL FILE(LDECRRGROUP)

DO J= 1,QQ(RGROUP)
A =1000*TRN(2) + TRN(3)
IF (NU(RGROUPRJ) .EQ. A ) THEN
1=
ENDIF
ENDDO
WAIT(NU(RGROUPJJ) = WAIT(NU(RGROUPJJ)) + 1
ELSE
CALL FILE(LLAST,JOB(GROUP))
ENDIF
ENDDO
CALL NRETURN(RGROUP)

DO | = 1,0RIMACHS(RGROUP)
IF ( STATEL(NUMB(RGROURYI)) .EQ.0) THEN
IF (WAIT2(NUMB(RGROURI)) .EQ. 6) THEN
NMACH =1
CALL NDISPATCH(RGROUP)
WAIT2(NUMB(RGROURNMACH)) =0
ENDIF
ENDIF
ENDDO

IF (NMWT(NUMB(GROUPXXXY)) .GE. TMACH(GROUP) ) THEN
NMACH = XXXY
CALL NDISPATCH(GROUP)
ELSE
STATEL(NUMB(GROUPXXXY)) = 2
X = EXPON(MAC(GROUP),RANDOM1)
IF (X .LE. 0.455* MAC(GROUP)).OR.(X .GE. 2*MAC(GROUP))) THEN
GOTO 200
ENDIF

TRNSFR(1) = TIME +X
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TRNSFR(2) = 2.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

NMACHS(GROUP) = NMACHS(GROUP) — 1
ENDIF

DO = 1,0RIMACHS(GROUP)
IF ( STATEL(NUMB(GROUPI)) .EQ. 0) THEN
NMACH =
CALL NDISPATCH(GROUP)
ENDIF
ENDDO

RETURN
END

SUBROUTINE NWORKDONE2(GROUP)

INCLUDE 'ICFAB.DCL'

INTEGER GROUPXXXY,|,J RGROUPUPGROUPJJA W,V,GP(28)
REAL TRN(12),X

GROUP = TRNSFR(3)
NMACH =TRNSFR(4)
XXXY = NMACH

DO = 1, NGROUP
GP(1)=0
END DO

DO = 1, LSIZE(JOB(GROUP))
CALL REMOVE(LFIRST,JOB(GROUP))
IF (TRNSFR(1) .EQ. XXXY) THEN
DO J=1, MAXATR
TRN(J) = TRNSFR(J)
END DO
TRN(3) = TRN(3) + 1
RGROUP = ROUTE(INT(TRN(2)),INT(TRN(3)))
GP(RGROUP) = 1
TRNSFR(1) = TIME
TRNSFR(2) = TRN(2)
TRNSFR(3) = TRN(3)
TRNSFR(9) = TRN(9)
CALL FILE(LDECRRGROUP)

DO J= 1,QQ(RGROUP)
A =1000* TRN(2) + TRN(3)
IF (NU(RGROUPRJ) .EQ. A ) THEN
1=
ENDIF
ENDDO
WAIT(NU(RGROUPJJ) = WAIT(NU(RGROUPJJ)) + 1

V=0

DOJ=19
W = 400000 + NU(RGROUP.JJ)* 10 + J
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IF (TTT(W) .NE.0) THEN
V=1
ELSE
V=V
ENDIF
ENDDO

IF(V .EQ.0) THEN
/ TTT( 400000 + NU(RGROURJ)*10+1) =TIME
ELSEIF(V .NE.0) THEN
IF (((WAIT(NU(RGROURJ))) - MMM(NU(RGROURJJ))
& - 12*(V-1)) .EQ. 1) THEN
IF(V .EQ.9) THEN
G = NU(RGROUPRL)
WRITE (6,100) G
100 FORMAT (‘Excess set lots of arecord time', F13.1)
STOP
ELSE

ENDIF
& ENDIF
ENDIF
ELSE
CALL FILE(LLAST,JOB(GROUP))

ENDIF
ENDDO

/ DO = 1, NGROUP \
IF (GP(I) .GT. 0) THEN
DO J= 1,0RIMACHS()
IF (STATEL(NUMB(I,J) .EQ. 0) THEN
NMACH = J
CALL NDISPATCH()
ENDIF
ENDDO

TTT( 400000 + NU(RGROURJ)*10 + V+1) = TIME

_/

\ ENDIF j

ENDDO

IF (NMWT(NUMB(GROUPXXXY)) .GE. TMACH(GROUP) ) THEN
IF ( STATE2(NUMB(GROUPXXXY)) .EQ. 0) THEN
STATEL(NUMB(GROUPXXXY)) = 0

IF (GROUP .EQ. 23) THEN
/ IF (FAU28 .EQ. 1) THEN \
DO = 1, LSIZE(GROUP)

CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(11) .EQ. 2) THEN
TRNSFR(7) = XXXY
ENDIF
CALL FILE(LLAST,GROUP)
ENDDO
STATE2(NUMB(GROUPXXXY)) = 2
NMACH = XXXY
CALL NDISPATCH(GROUP)

FAU28=0
ENDIF

ENDIF
ELSE
IF (WAIT2(NUMB(GROURPXXXY)) .EQ.6) THEN
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NMACH = XXXY
CALL NDISPATCH(GROUP)
WAIT2(NUMB(GROUPNMACH)) = 0
ENDIF
ENDIF
ELSE
IF ((STATE2(NUMB(GROUPXXXY)) .EQ. 1) .OR.
& (STATE2(NUMB(GROUPXXXY)) .EQ. 2) ) THEN
UPGROUP = ROUTE(INT(TRN(2)),INT(TRN(3)-2))

F (UPGROUP .EQ. 28) THEN
FAU28=1
DO =1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(7) .EQ. XXXY) THEN
TRNSFR(7) =0
TRNSFR(11) = 2
ENDIF
CALL FILE(LDECR,GROUP)
ENDDO
ELSE
DO = 1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(7) .EQ. XXXY) THEN
TRNSFR(11) = 1
ENDIF
CALL FILE(LDECR,GROUP)

ENDDO
CALL NRETURN(GROUP)
NDIF

ENDIF
STATEL(NUMB(GROUPXXXY)) = 2
200 X =EXPON(MAC(GROUP),RANDOM1)
IF (X .LE. 0.455* MAC(GROUP)).OR.(X .GE. 2*MAC(GROUP))) THEN
GOTO 200
ENDIF

TRNSFR(1) = TIME + X
TRNSFR(2) = 2.0
TRNSFR(3) = GROUP
TRNSFR(4) = XXXY
CALL FILE(LINCR,LEVENT)
NMACHS(GROUP) = NMACHS(GROUP) - 1
ENDIF

DO = 1,0RIMACHS(UPGROUP)
IF ( STATEL(NUMB(UPGROUPI)) .EQ. 0) THEN
NMACH =1
CALL NDISPATCH(UPGROUP)
ENDIF
ENDDO

RETURN
END

SUBROUTINE REPAIRDONE
INCLUDE 'ICFAB.DCL'
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60

INTEGER GROUP
REAL X

GROUP  =TRNSFR(3)
NMACH =TRNSFR(4)
MACHINE = NGROUP + GROUP

X = EXPON(MAC(MACHINE),RANDOM?2)

IF ((X .LE. 0.455* MAC(MACHINE)).OR.(X .GE. 2“MAC(MACHINE))) THEN
GOTO 60

ENDIF

STATEL(NUMB(GROUPNMACH)) = 0.0
STATE3(NUMB(GROUPNMACH)) = TIME + X
NMWT(NUMB(GROUPNMACH)) = NMWT(NUMB(GROUPNMACH)) + X
NMACHS(GROUP) = NMACHS(GROUP) + 1
IF (GROUP .EQ. 23) THEN
IF (FAU28 .EQ. 1) THEN 28
DO I=1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(11) .EQ. 2) THEN
TRNSFR(7) = NMACH
ENDIF
CALL FILE(LLAST,GROUP)
ENDDO
STATE2(NUMB(GROUPNMACH)) = 2
CALL NDISPATCH(GROUP)
FAU28=0
ENDIF
ENDIF

SELECT CASE(GROUP)
CASE (1,2,4,5,7,8,10,11,12,13,14,15,16,17,18,19,20,22,24,28)
CALL NDISPATCH(GROUP)

END SELECT

RETURN
END

SUBROUTINE RELEASE
INCLUDE 'ICFAB.DCL'
INTEGER GROUPNWIBXXXY,Q,l,A

GROUP=1

TASK =1
XXXY = NMACH

Q=0
DO | = 1,QQ(GROUP)
IF (MMM(NU(L,1)) .NE. 0) THEN
Q=1

63



ELSE
Q=Q
ENDIF
ENDDO

IF (Q .NE. 0) THEN
DOI=12
A =1000*| + TASK
IF (A .EQ.NU(1,Q) ) THEN
JOBTYP=1
ENDIF
ENDDO
R R RS S EE S E S ST S LTSS LSS LSS LSS S ST EEEEE LSS EETEEEE S EEEEEEEEEEEEE T
DO =1, CMACH(1)
IF (JOBTYP .EQ. 1) THEN
PIECEL = PIECEL + 1
ELSEIF (JOBTYP.EQ. 2) THEN
PIECE2 = PIECE2 + 1
ENDIF
TPIECE=PIECE1+PIECE2
MMM (NU(1,Q)) = MMM(NU(LQ)) - 1

TRNSFR(1) = XXXY

TRNSFR(2) = JOBTYP

TRNSFR(3) = TASK

TRNSFR(9) = TIME

CALL FILE(LINCR,JOB(GROUP))
ENDDO

STATEL(NUMB(GROURXXXY)) =1
STATE3(NUMB(GROUPRPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROURXXXY)) = NMWT(NUMB(GROUBRXXXY)) - TMACH(GROUP)

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0
TRNSFR(3) = GROUP
TRNSFR(4) = XXXY
CALL FILE(LINCR,LEVENT)
ELSEIF(Q .EQ. 0) THEN
NWIP = TPIECE - TNWAFER
IF (NWIP .LT. nsystem) THEN
F (JOB_TYPE .EQ. 1) THEN
JOBTYP=1 \
Q=1
ELSEIF( JOB_TYPE .EQ. 2) THEN
JOBTYP=2
Q=2
ELSEIF( JOB_TYPE .EQ. 3) THEN
IF (PIECEl*ay .LE. PIECE2*ax ) then
JOBTYP=1
Q=1
ELSE
JOBTYP=2
Q=2
ENDIF
ENDIF
hhkhkhkkhhkhhhdhhkhdhhhdhhdhhdhhdhhdhhhdhhhdhhhhdhhdhhdhhdhhdhhddhhdhddhhdhhdhhddxsd
DO =1, CMACH(1)
IF (JOBTYP .EQ. 1) THEN
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PIECE1 = PIECEL + 1
ELSEIF (JOBTYP.EQ. 2) THEN

PIECE2 = PIECE2 + 1
ENDIF
TPIECE=PIECE1+PIECE2
MMM(NU(L,Q)) = 11

TRNSFR(1) = XXXY

TRNSFR(2) = JOBTYP

TRNSFR(3) = TASK

TRNSFR(9) = TIME

CALL FILE(LINCR,JOB(GROUP))
END DO

STATEL(NUMB(GROURXXXY)) =1
STATE3(NUMB(GROUPRXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROURXXXY))=NMWT(NUMB(GROURXXXY))-TMACH(GROUP)

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0
TRNSFR(3) = GROUP
TRNSFR(4) = XXXY
CALL FILE(LINCR,LEVENT)
ENDIF
ENDIF

NMACH =0

RETURN
END

SUBROUTINE NDISPATCH(GROUP)
INCLUDE '|CFAB.DCL'
INTEGER GROUP
SELECT CASE(GROUP)
CASE (1)
CALL RELEASE
CASE (7,10,11,14,16,18,4,12,13,15,17,19)

CALL USUAL(GROUP)

CASE (5,8)

CALL N1TO1WORK (GROUP) (1)
CASE (20)

CALL N4TOIWORK (GROUP) (4)
CASE (2,22,24)

CALL N4TOBWORK (GROUP) (6)
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CASE (28)
CALL N28WORK 28
CASE (3,6,9,21,23,25,26,27)
CALL NSECOND(GROUP)
END SELECT

RETURN
END

SUBROUTINE NRETURN(GROUP)
INCLUDE 'ICFAB.DCL'
INTEGER GROUPI,A,B,C,UPGROURJOBTQ,TASKQ1,TASKQ2

DO = 1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(11) .EQ. 1) THEN
JOBTQ = TRNSFR(2)
TASKQL = TRNSFR(3) I\
TASKQ2=TASKQ1- 1
A = 1000*JOBTQ + TASKQ1
WAIT(A) = WAIT(A) - 1
UPGROUP = ROUTE(JOBTQ,TASKQ2)
TRNSFR(1) = TIME
TRNSFR(2) = JOBTQ
KTRNSFR(?)) = TASKQ2 /
CALL FILE(LDECR,UPGROUP)
B = 1000* JOBTQ + TASKQ2
WAIT(B) = WAIT(B) + 1
IF(MMM(B) .NE. 0) THEN
MMM(B) = MMM(B) + 1
ELSEIF( MMM(B) .EQ. 0) THEN
MMM(B) = 12+ 1 MMM(X) TTT(Y(1))
C=400000 + B*10 + 1
IF (TTT(C) .EQ. 0) THEN
TTT(C) = TIME
ENDIF
ENDIF
ELSE
CALL FILE(LDECR,GROUP)
ENDIF
ENDDO

RETURN
END

SUBROUTINE USUAL (GROUP)
INCLUDE 'ICFAB.DCL'
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INTEGER GROUPXXXY,I,JK,I1,JJA,B,W,R,SRR
REAL TP

XXXY = NMACH

W& =
I 1mngn
OO oo

w

60* 24* 60

DO = 1,QQ(GROUP)
IF (MMM(NU(GROUPI)) .NE. 0) THEN
IF ( WAIT(NU(GROUPI)) .GE. CMACH(GROUP)) THEN
W = 400000 + NU(GROUPI)*10 + 1
IF (TTT(W) .LT. T) THEN
T=TTT(W)
=1
ELSE
T=T
n=
ENDIF
ENDIF
ENDIF
ENDDO

IF (1l .NE.0) THEN
GOTO 100
ELSE
DO | = 1,QQ(GROUP)
IF (MMM(NU(GROURI)) .EQ. 0) THEN
IF ( WAIT(NU(GROUPI)) .GE. CMACH(GROUP)) THEN
IF (P .LT. (WAIT(NU(GROUPI)) * TMACH(GROUP))) THE|
P=WAIT(NU(GROUPI)) * TMACH(GROUP)
J=1
ELSE
P=P
N=1
ENDIF
ENDIF
ENDIF
ENDDO
IF (JJ.NE.0) THEN
GOTO 200
ELSE
GOTO 300
ENDIF
ENDIF

100 _ DOI=1.2
DOJ=1,90
A = 1000%1+J
IF (A .EQ. NU(GROUPII) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO
ENDDO
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DO =1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1
IF (B .LE. CMACH(GROUP) ) THEN
MMM (NU(GROURII)) = MMM(NU(GROURII)) - 1
WAIT(NU(GROUPRII)) = WAIT(NU(GROURII)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROUPII)) .EQ. 0) THEN
S=0
DOJ=29
R = 400000 + NU(GROUPRI1)*10 + J
IF(TTT(R) .NE.0) THEN
S=J
ELSE
S=S
ENDIF
ENDDO
IF (S.EQ.0) THEN \
R = 400000 + NU(GROUPI)*10 + 1
TTT(R)=0
ELSEIF( S.NE. 0) THEN
DOK =151
R = 400000 + NU(GROUPI1)* 10 + K TTT(Y (1))
RR = 400000 + NU(GROUPI1)*10 + K+1
TTT(R) = TTT(RR)
ENDDO
TTT( 400000 + NU(GROUPRII)*10 + S) = y
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROURXXXY)) =1
STATE3(NUMB(GROURXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROURXXXY)) = NMWT(NUMB(GROURXXXY)) - TMACH(GROUP)

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

GOTO 300

200 DO =1,2
DO J=1,90
A = 1000%1+J
IF (A .EQ. NU(GROUPJJ) ) THEN
JOBTYP= |
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TASK =1
ENDIF
ENDDO
ENDDO

DO =1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1
IF (B .LE. CMACH(GROUP) ) THEN
IF (MMM(NU(GROURJ)) .EQ.0) THEN
MMM (NU(GROURJJ) = 11
ELSE
MMM (NU(GROUPRJJ)) = MMM (NU(GROURJ)) - 1
ENDIF
WAIT(NU(GROUPJJ)) = WAIT(NU(GROURJ)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROURJJ)) .EQ. 11) THEN
S=0
DOJ=19
R = 400000 + NU(GROUPJJ)* 10 + J
IF (TTT(R) .NE. 0) THEN
S=J
ELSE
S=s
ENDIE
ENDDO
IF(S.EQ.0) THEN
[ R = 400000 + NU(GROUP1J)*10 + 1 J

TTT(R)=TIME TTT(Y (1)
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROURXXXY)) =1
STATE3(NUMB(GROURXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROURXXXY)) = NMWT(NUMB(GROURXXXY)) - TMACH(GROUP)

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

300 NMACH=0

RETURN
END
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10. (11)

SUBROUTINE N1TOIWORK(GROUP)

INCLUDE 'ICFAB.DCL'

INTEGER GROUPXXXY,I,JK,A,B,RGROUPHH,W,R,SRR,I1,JJ,KK,LL
REAL TP

XXXY = NMACH

W Xug& =
'_xll non
Nooo

© o

I
W o

60* 24* 60

DO = 1,QQ(GROUP)
IF (MMM(NU(GROUPI)) .NE. 0) THEN
IF ( WAIT(NU(GROUPI)) .GE. CMACH(GROUP)) THEN
0J=12
DOK =1,90
A = 1000* J+K
IF (A EQ. NU(GROUPI) ) THEN
JOBTYP=1J
TASK =K
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYPTASK+1)
CALL ASSISTMACH(RGROUP)
HH =0
DO J= 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN
HH=J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
W = 400000 + NU(GROURI)*10 + 1
IF (TTT(W) .LT. T) THEN
T=TTT(W)
=1
JJ=HH
ELSE
T=T
n=1
U=1
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO

IF (1l .NE.0) THEN
GOTO 100
ELSE
DO | = 1,QQ(GROUP)
IF (MMM(NU(GROURI)) .EQ. 0) THEN
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IF ( WAIT(NU(GROUPI)) .GE. CMACH(GROUP)) THEN
IF (P.LT. (WAIT(NUGROUPI)) * TMACH(GROUP))) THEN
DOJ=12
DOK =1,90
A = 1000* J+K
IF (A .EQ. NU(GROUPI) ) THEN
JOBTYP=1J
TASK =K
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYPTASK +1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J= 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROUPJ)) .EQ. 0) THEN
HH=J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
P=WAIT(NU(GROUPI)) * TMACH(GROUP)
KK =1
LL = HH
ELSE
P=P
KK = KK
LL=LL
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO
IF (KK .NE.0) THEN
GOTO 200
ELSE
GOTO 300
ENDIF
ENDIF

100 - DOl =1,
DO J=1,90
A = 1000%|+J
IF (A .EQ. NU(GROUPII) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO
ENDDO

DO I=1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1

IF (B .LE. CMACH(GROUP) ) THEN
MMM (NU(GROUPRII)) = MMM(NU(GROURII)) - 1
WAIT(NU(GROUPRII)) = WAIT(NU(GROURII)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
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TRNSFR(3) = TASK

TRNSFR(5) = JJ

TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME

CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROUPII)) .EQ. 0) THEN
S=0
DOJ=29
R = 400000 + NU(GROUPRI1)*10 + J
IF(TTT(R) .NE.0) THEN
S=J

ELSE
S=S
ENDIF
ENDDO

/fF(S.EQ.O)THEN \
R = 400000 + NU(GROUPI1)*10 + 1
TTT(R) =0

ELSEIF( S.NE. 0) THEN
DOK =151
R = 400000 + NU(GROUPI1)* 10 + K TTT(Y (1))
RR = 400000 + NU(GROURII)*10 + K+1
TTT(R) = TTT(RR)
ENDDO
\E TTT(400000 + NU(GROUPI1)*10 + S) =0
NDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROUPXXXY)) = 1

STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
STATE2(NUMB(RGROUPRJJ) = 2

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

GOTO 300

200 DOI=12
DO J=1,90
A = 1000*1+J
IF (A .EQ. NU(GROUPKK) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO
ENDDO

DO I=1, LSIZE(GROUP)
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CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1
IF (B .LE. CMACH(GROUP) ) THEN
IF ( MMM(NU(GROUPKK)).EQ.0) THEN
MMM (NU(GROUPKK)) =11
ENDIF
WAIT(NU(GROUPKK)) = WAIT(NU(GROUPKK)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = LL
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROUPKK)) .EQ. 11) THEN
S=0
DOJ=1,9
R = 400000 + NU(GROUPKK)*10 + J
IF(TTT(R) .NE.0) THEN
S=J
ELSE
S=S
ENDIF
ENDDO

TTT(R) = TIME
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

IF (S.EQ.0) THEN
[ R = 400000 + NU(GROUPKK)*10 + 1} TTT(Y (1))

STATEL(NUMB(GROUPXXXY)) = 1
STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
STATE2(NUMB(RGROUPLL)) = 2

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

300 NMACH=0
RETURN
END

11. ( 41)

SUBROUTINE N4TOIWORK (GROUP)
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INCLUDE 'ICFAB.DCL'
INTEGER GROUPXXXY,I,JK,A,B,RGROUPHH,W,R,SRR,I1,JJKK,LL
REAL TP

XXXY = NMACH

I1=0
B=0
P =0

360*24*60

DO = 1,QQ(GROUP)
IF (MMM(NU(GROUPI)) .NE. 0) THEN
IF (WAIT(NU(GROUPJ)) .GE. 1) THEN
DOJ=12
DOK =1,90
A = 1000* J+K
IF (A EQ. NU(GROUPI) ) THEN
JOBTYP=1J
TASK =K
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYPTASK +1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J= 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN
HH=J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
W = 400000 + NU(GROUPI)*10 + 1
/T IF(TTT(W) LT.T) THEN ™
T=TTT(W)
=1
JJ=HH
ELSE
T=T
n=1

=1
K ENDIF -/

ENDIF
ENDIF
ENDIF
ENDDO

IF (1l .NE.0) THEN
GOTO 100
ELSE
DO | = 1,QQ(GROUP)
IF (MMM(NU(GROURI)) .EQ. 0) THEN
IF ( WAIT(NU(GROUP))) .GE. 1) THEN
IF (P .LT. (WAIT(NU(GROUPI)) * TMACH(GROUP))) THEN

DOJ=12
[ DOK =190 ]
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A = 1000* J+K
IF (A .EQ. NU(GROUPI) ) THEN
JOBTYP=1J
TASK =K
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYPTASK +1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J= 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN
HH=J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
P=WAIT(NU(GROUPI)) * TMACH(GROUP)
KK =1
LL = HH
ELSE
P=P
KK = KK
LL=LL
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO
IF (KK .NE.0) THEN
GOTO 200
ELSE
GOTO 300
ENDIF
ENDIF

100 _DOI =172
DO J=1,90
A = 1000%|+J
IF (A .EQ. NU(GROUPII) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO
ENDDO

DO I=1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1

IF(B.LE.1) THEN
MMM (NU(GROUPRII)) = MMM(NU(GROURII)) - 1
WAIT(NU(GROUPRII)) = WAIT(NU(GROURII)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = JJ
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
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CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROUPII)) .EQ. 0) THEN
S=0
DOJ=29
R = 400000 + NU(GROURI1)*10 + J
IF(TTT(R) .NE.0) THEN
S=J

ELSE
s=s
ENDIF
ENDDO
IF(S.EQ.0) THEN
R=400000+ NUGROURIF10+1  \
TTT(R) = 0
ELSEIF( S.NE. 0) THEN
DOK = 1,51
R = 400000 + NU(GROUPI1Y*10 + K TTT(Y ()
RR = 400000 + NU(GROUPJ1)*10 + K+1
TTT(R) = TTT(RR)
ENDDO
\_ TTT(400000 + NU(GROURI1*10+$) =0
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROUPXXXY)) = 1

STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)

NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
STATE2(NUMB(RGROUPRJJ) = 2

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

GOTO 300

200 DOI=12
DO J=1,90
A = 1000%|+J
IF (A .EQ. NU(GROUPKK) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO
ENDDO

DO I=1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1

76



IF(B.LE.1) THEN
IF (MMM(NU(GROUPKK)) .EQ. 0) THEN
MMM (NU(GROUPKK)) = 11
ENDIF
WAIT(NU(GROUPKK)) = WAIT(NU(GROUPKK)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = LL
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROUPKK)) .EQ. 11) THEN
S=0
DOJ=1,9
R = 400000 + NU(GROUPKK)*10 + J
IF (TTT(R) .NE.0) THEN

ELSE
S=S
ENDIF
ENDDO

TTT(R) = TIME
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

IF (S.EQ.0) THEN
[ R = 400000 + NU(GROUPKK)*10 + 1} TTT(Y ()

STATEL(NUMB(GROUPXXXY)) = 1
STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
STATE2(NUMB(RGROUPLL)) = 2

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

300 NMACH=0

RETURN
END

12. ( 46)

SUBROUTINE N4TO6WORK (GROUP)
INCLUDE 'ICFAB.DCL'
INTEGER GROUPXXXY,DD,|,JK,AB,PPRFYY,FFR,SRRWWW,VV,II,J],
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& HH,KK LL,SSXXXZ(28), XY (28)
REAL T,PNWAIT(28)

XXXY = NMACH

T = 360*24*60

DO | = 1,NGROUP
NWAIT(1) =0
XY(1)=0
XXXZ(1) =0

ENDDO

DO = 1,SSS(GROUP)
IF ( STATE2(NU1(GROUP))) .EQ. 1) THEN
VV =1
ENDIF
ENDDO

IF(VV .NE.0) THEN
DO = 1,SSS(GROUP)
IF ( PLANFIN(GROUPJ) .EQ. 2) THEN
IF ( WAIT(PLANWORK(GROUPI)) .GE. 4) THEN
PP=1
IF (PP .NE.0) THEN
GOTO 100
ENDIF
ENDIF
ENDIF
ENDDO
IF (PP.EQ.0) THEN
DO = 1,SSS(GROUP)
IF ( PLANFIN(GROUPJ) .EQ. 4) THEN
DOJ=12
DOK =1,90
A = 1000+ J+K

IF (A .EQ. PLANWORK(GROUPI) ) THE

JOBTYP=1J
TASK =K
ENDIF
ENDDO
ENDDO

IF ( WAIT(PLANWORK (GROUP))) .GE. 8) THEN

RGROUP = ROUTE(JOBTYPTASK +1)
CALL ASSISTMACH(RGROUP)
DO J= 1,0RIMACHS(RGROUP)

F =1 - PPP(RGROUP)

IF (J.NE. F) THEN
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IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN

YY =1
FF=J + PPP(RGROUP)
GOTO 200
ENDIF
ENDIF
ENDDO
ENDIF
ENDIF
ENDDO
ELSEIF( FF .EQ. 0) THEN
DO = 1,SSS(GROUP)
IF ( PLANFIN(GROUPJ) .EQ. 4) THEN
IF ( WAIT(PLANWORK(GROUPI)) .GE. 2) THEN
WW = |
GOTO 300
ENDIF
ENDIF
ENDDO
ENDIF
ELSEIF( VV .EQ. 0) THEN
DO | = 1,QQ(GROUP)
IF (MMM(NU(GROUPI)) .NE. 0) THEN
[ IF (WAIT(NU(GROUPI)) .GE. 6) THEN ]
DOJ=12
DOK = 1,90
A = 1000+ J+K
IF (A .EQ. NU(GROUPI) ) THEN
JOBTYP=1J
TASK =K
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYPTASK +1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J= 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN
HH=J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
W = 400000 + NU(GROUPI)*10 + 1
IF(TTT(W) .LT.T) THEN
T=TTT(W)
=1
JJ=HH
ELSE
T=T
n=
U=1
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO
IF (1l .NE.0) THEN
GOTO 400
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ELSE
IF (GROUP .EQ. 24) THEN 24
DO = 1,QQ(GROUP)
IF (MMM(NU(GROUPI)) .EQ. 0) THEN
[ IF (WAIT(NU(GROUPI)) .GE. 6) THEN =6lots
IF (P .LT. (WAIT(NU(GROUPI)) * TMACH(GROUP))) THEN

DOJ=12
/" DoK-= 1,90 I

A = 1000+ J+K

IF (A .EQ. NU(GROUPJ) ) THEN
JOBTYP=1J
TASK =K

ENDIF

ENDDO

\_ ENDDO _J

RGROUP = ROUTE(JOBTYPTASK+1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J = 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROUR.J)) .EQ. 0) THEN
HH =J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
P= WAIT(NU(GROUPJ)) * TMACH(GROUP)
KK =1
LL = HH
ELSE
P=P
KK = KK
LL=LL
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO
IF (KK .NE.0) THEN
GOTO 500 500
ELSE
GOTO 600
ENDIF
ELSEIF( GROUP .EQ. 2) THEN 2
DO = 1,QQ(GROUP)
IF (MMM(NU(GROUPJ)) .EQ. 0) THEN
[ IF (WAIT(NU(GROUPI)) .GE. 6) THEN ] =6lots
IF (P LT. (WAIT(NU(GROUPI)) * TMACH(GROUP))) THEN

DOJ=12
7 T DOK=190 I

A = 1000+ J+K

IF (A .EQ. NU(GROUPJ) ) THEN
JOBTYP=1J
TASK =K

ENDIF

ENDDO

\_ ENDDO
~

RGROUP = ROUTE(JOBTYPRTASK+1)
CALL ASSISTMACH(RGROUP)
L HH=0
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DO J = 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN
HH =J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
P= WAIT(NU(GROUPJ)) * TMACH(GROU
KK =1
LL = HH
ELSE
P=P
KK = KK
LL=LL
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO
IF (KK .NE. 3) THEN
IF (KK .NE.0) THEN
GOTO 500
ELSE
GOTO 600
ENDIF
ELSEIF (KK .EQ. 3) THEN
NWAIT(2) = P

DO = 1,0RIMACHS(22)
IF (STATEL(NUMB(22,)) .EQ. 0) THEN
XXXZ(22) =1 22
ENDIF
ENDDO
IF (XXXZ(22) .NE.0) THEN
DO J=1,QQ(22) \
IF (MMM(NU(22,J)) .EQ. 0) THEN
IF (WAIT(NU(22,J)) .GE. 6) THEN
IF (NWAIT(22) LT. (WAIT(NU(22,J)) * TMACH(22))) THEN
NWAIT(22) = WAIT(NU(22,J) * TMACH(22)
XY(22) =J
ELSE
NWAIT(22) = NWAIT(22)
XY (22) = XY(22)
ENDIF
ENDIF

ENDIF
ENDDO

ENDIF

DO | = 1,0RIMACHS(28)
IF (STATEL(NUMB(28,)) .EQ. 0) THEN
XXXZ(28) = 28
ENDIF
ENDDO
IF ( XXXZ(28) .NE. 0) THEN
DO J=1,QQ(28)
IF (MMM(NU(28,J) .EQ. 0) THEN
IF (WAIT(NU(28,J)) .GE. CMACH(28)) THEN
IF (NWAIT(28) .LT. (WAIT(NU(28,J) * TMACH(28))) THE!
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NWAIT(28) = WAIT(NU(28,)) * TMACH(28)
ELSE
NWAIT(28) = NWAIT(28)
ENDIF
ENDIF
ENDIF
ENDDO
ENDIF
DO | =1,NGROUP
IF ( SS.LT. NWAIT(1)) THEN
SS=NWAIT() 222 28
ELSE
SS=SS
ENDIF
ENDDO
DO | =1NGROUP
IF ( SS.EQ. NWAIT(1)) THEN
DD =1
ENDIF
ENDDO
IF (DD .EQ. 2) THEN 2
GOTO 500 500
ELSE 22 28
P =0
KK =0
LL=0
kkkkkkhkhkk*k 2 23 kkkhkkkkkhk*x
DOI=12
IF (MMM(NU(GROUPJ)) .EQ. 0) THEN
[ IF (WAIT(NU(GROUPI)) .GE.6 ) THEN ] =6lots
IF (P LT. (WAIT(NU(GROUPI)) * TMACH(GROUP))) THEN
DOJ=12 ™~
DOK =1,90
A = 1000+ J+K
IF (A .EQ. NU(GROUPJ) ) THEN
JOBTYP=1J
TASK =K
ENDIF
ENDDO
ENDDO _/
~ RGROUP = ROUTE(JOBTYRTASK+1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J = 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROUR.J)) .EQ. 0) THEN
HH=J
\_ ENDIF
ENDDO
IF (HH .NE. 0) THEN
P=WAIT(NU(GROUPI)) * TMACH(GROUP.
KK =1
LL = HH
ELSE
P=P
KK = KK
LL=LL
ENDIF
ENDIF
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ENDIF
ENDIF
ENDDO
IF (KK .NE.0) THEN
GOTO 500 500
ELSE
GOTO 600
ENDIF
ENDIF
ENDIF
ELSEIF( GROUP .EQ. 22) THEN
DO = 1,QQ(22)
[ IF (MMM(NU(22,1)) .EQ. 0) THEN ]
IF (WAIT(NU(22,1)) .GE. 6) THEN
IF (P .LT. (WAIT(NU(22,)) * TMACH(22))) THEN
DOJ=12
DOK =1,90
A = 1000+ J+K
IF (A .EQ.NU(22,) ) THEN
JOBTYP=1J
TASK =K
ENDIF
ENDDO
o ENDDO _/
/~ RGROUP= ROUTE(JOBTYPTASK+1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J = 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN
HH=J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
P=WAIT(NU(22,))) * TMACH(22)
KK =1
LL = HH
ELSE
P=P
KK = KK
LL=LL
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO
NWAIT(22) = P

=6lots

-

IF (KK .EQ. 0) THEN
GOTO 600
ELSE
7~ DOI = 1,0RIMACHS(2)
IF (STATEL(NUMB(2,)) .EQ. 0) THEN
XXXZ(2) =1 2
ENDIF
\. ENDDO
~ IF(XXXZ(2) .NE.0) THEN
IF (MMM(NU(2,3)) .EQ. 0) THEN
IF (WAIT(NU(2,3)) .GE. 6) THEN 2
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4 NWAIT(2) = WAIT(NU(2,3)) * TMACH(2)
XY(2) =3
ENDIF

ENDIF
\- ENDIF

~ DO = 1,0RIMACHS(28)
IF (STATEL(NUMB(28,1)) .EQ. 0) THEN

XXXZ(28) = |

ENDIF
- ENDDO

IF ( XXXZ(28) .NE.0) THEN

DO J=1,QQ(28)

IF (MMM(NU(28,J)) .EQ. 0) THEN
IF (WAIT(NU(28,J)) .GE. CMACH(28)) THEN

IF (NWAIT(28) .LT. (WAIT(NU(28,J)) * TMACH(28))) THEN

NWAIT(28) = WAIT(NU(28,)) * TMACH(28)
ELSE
NWAIT(28) = NWAIT(28)
ENDIF
ENDIF
ENDIF
ENDDO
ENDIF
DO | = 1,NGROUP
IF (SS.LT. NWAIT(1)) THEN
SS=NWAIT()
ELSE
SS=SS
ENDIF
ENDDO
DO | = 1,NGROUP
IF ( SS.EQ. NWAIT(l)) THEN
DD =1
ENDIF
ENDDO
IF (DD .EQ. 22) THEN
GOTO 500
ELSE
GOTO 600
ENDIF
ENDIF
ENDIF
ENDIF

ENDIF

100 DOI1=1.2

DO J=1,90
A = 1000%|+J
IF (A .EQ. PLANWORK (GROUPPP) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO

ENDDO
RGROUP = ROUTE(JOBTYRTASK+1)

DO = 1, LSIZE(GROUP)

28

~

_/

28

23

28

22



CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1
IF (B .LE. CMACH(GROUP) ) THEN
IF ( MMM (PLANWORK(GROUPPP)) .NE. 0) THEN
MMM (PLANWORK (GROUPRPP)) = MMM (PLANWORK (GROUPPP)) - 1
ELSE
MMM (PLANWORK(GROURPP)) = 11
ENDIF
WAIT(PLANWORK (GROUPRPP)) = WAIT(PLANWORK (GROUPPP)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = PP - PPP(RGROUP)
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(PLANWORK (GROUPPP)) .EQ. 0) THEN
S=0
DOJ=29
R = 400000 + PLANWORK (GROUPPP)* 10 + J
IF(TTT(R) .NE.0) THEN
S=J
ELSE
S=S
ENDIF
ENDDO
IF (S.EQ.0) THEN
R = 400000 + PLANWORK (GROUPPP)*10 + 1 \
TTT(R)=0
ELSEIF( S.NE. 0) THEN
DOK =151
R = 400000 + PLANWORK (GROUPPP)* 10 + K
RR = 400000 + PLANWORK(GROUPPP)*10+ K+1 |  TTT(Y(l))
TTT(R) = TTT(RR)
ENDDO
\E TTT( 400000 + PLANWORK (GROUPPP)*10 + S) = 0
NDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROUPXXXY)) = 1
STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
PLANFIN(GROUPPP) = 0

PLANWORK(GROUPPP) = 0

STATE2(NUL(GROUPPP)) = 2

TRNSFR(1) = TIME + TMACH(GROUP)

TRNSFR(2) = 1.0
TRNSFR(3) = GROUP
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TRNSFR(4) = XXXY
CALL FILE(LINCR,LEVENT)
GOTO 600

200 -DO1 =12
DOJ=1,90
A =1000*1+J
IF (A .EQ. PLANWORK(GROURYY) ) THEN
JOBTYP=1
TASK =1
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYRTASK+1)

DO =1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1
IF (B .LE. CMACH(GROUP) ) THEN
MMM (PLANWORK(GROURYY)) = MMM (PLANWORK(GROURYY)) - 1
WAIT(PLANWORK(GROURYY)) = WAIT(PLANWORK(GROURYY)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) =YY - PPP(RGROUP)
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(PLANWORK (GROURYY)) .EQ. 0) THEN
S=0
DOJ=29
R = 400000 + PLANWORK (GROUPY Y)* 10 + J
IF(TTT(R) .NE.0) THEN
S=J
ELSE
S=S
ENDIF
ENDDO
IF (S.EQ.0) THEN \
R = 400000 + PLANWORK (GROUPYY)*10 + 1
TTT(R)=0
ELSEIF( S.NE. 0) THEN
DOK =151
R = 400000 + PLANWORK (GROUPY Y)*10 + K
RR = 400000 + PLANWORK(GROUPYY)*10 + K+1 | TTT(Y(l))
TTT(R) = TTT(RR)
ENDDO
KE TTT(400000 + PLANWORK (GROUPYY)*10 + S) = 0
NDIF

ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO
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STATEL(NUMB(GROUPXXXY)) = 1
STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
PLANFIN(GROURYY) = 0

PLANWORK(GROUPYY) = 0

STATE2(NUL(GROUPRYY)) = 2

PLANFIN(GROUPFF) = 2 dlots
PLANWORK (GROUPFF) = 1000* JOBTYP + TASK

STATE2(NUL(GROUPFF)) = 1

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

GOTO 600

300 DOI=12
DOJ=1,90
A =1000*1+J
IF (A .EQ. PLANWORK(GROURPWW) ) THEN
JOBTYP=1
TASK =1
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYRTASK+1)

DO I=1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1
IF(B.LE.2) THEN
MMM (PLANWORK (GROUPWW)) = MMM (PLANWORK(GROUPWW)) - 1
WAIT(PLANWORK (GROURPWW)) = WAIT(PLANWORK (GROUPWW)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = WW - PPP(RGROUP)
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM (PLANWORK(GROURWW)) .EQ. 0) THEN
S=0
DOJ=29
R = 400000 + PLANWORK(GROUPRWW)*10 + J
IF(TTT(R) .NE.0) THEN
S=J
ELSE
S=S
ENDIF
ENDDO

IF(S.EQ.0) THEN
[ R = 400000 + PLANWORK (GROUPWW)* 10 + 1 J

TTT(R)=0
ELSEIF(S.NE.0) THEN
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DOK =151
R = 400000 + PLANWORK (GROUPWW)* 10 + K
RR = 400000 + PLANWORK(GROUPWW)*10 + K+1 | TTT(Y(1))
TTT(R) = TTT(RR)
ENDDO
TTT( 400000 + PLANWORK (GROUPWW)*10 + S) = 0
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROUPXXXY)) = 1
STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
PLANFIN(GROUPWW) =0

PLANWORK(GROUPWW) = 0

STATE2(NUL(GROUPWW)) = 2

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

GOTO 600

400 DOI=12
DO J=1,90
A = 1000%1+J
IF (A .EQ. NU(GROUPII) ) THEN
JOBTYP=1
TASK =J
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYPTASK+1)

DO =1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1

IF (B .LE. CMACH(GROUP) ) THEN
MMM (NU(GROURII)) = MMM(NU(GROURII)) - 1
WAIT(NU(GROUPRII)) = WAIT(NU(GROURII)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = JJ
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROUPII)) .EQ. 0) THEN
S=0
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DOJ=29
R = 400000 + NU(GROUPI1)*10 + J
IF (TTT(R) .NE. 0) THEN
S=J
ELSE
s=s
ENDIF
ENDDO
IF (S.EQ.0) THEN
R = 400000 + NU(GROUPJI)*10 + 1 \
TTT(R) =0
ELSEIF( S.NE. 0) THEN
DOK =151
R = 400000 + NU(GROUPJI1)*10 + K TTT(Y (1))
RR = 400000 + NU(GROUPI1)*10 + K+1
TTT(R) = TTT(RR)
ENDDO
k TTT( 400000 + NU(GROUPII)*10+S) =0 /
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROUPXXXY)) = 1

STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
PLANFIN(GROUPPPP(RGROUP)+JJ) = 4 2lots
PLANWORK (GROUPPPP(RGROUP)+JJ) = 1000* JOBTYP + TASK
STATE2(NUMB(RGROUPRJ) = 1

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

GOTO 600

500 DOI=12
DO J=1,90
A = 1000%|+J
IF (A .EQ. NU(GROUPKK) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO
ENDDO
RGROUP = ROUTE(JOBTYPTASK+1)

DO =1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1
IF (B .LE. CMACH(GROUP) ) THEN
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IF (MMM(NU(GROUPKK)) .EQ. 0) THEN

MMM (NU(GROUPKK)) = 11
ELSE

MMM (NU(GROUPKK)) = MMM(NU(GROUPKK)) - 1

ENDIF
WAIT(NU(GROUPKK)) = WAIT(NU(GROUPKK)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = LL
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROUPKK)) .EQ. 11) THEN
S=0
DOJ=1,9
R = 400000 + NU(GROUPKK)*10 +J
IF(TTT(R) .NE.0) THEN
S=J
ELSE
S=S
ENDIF
ENDDO
IF (S.EQ.0) THEN
R = 400000 + NU(GROUPKK)*10 + 1

TTT(R)=TIME TTT(Y (1)
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROUPXXXY)) = 1
STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
PLANFIN(GROUPPPP(RGROUP)+LL) = 4 2lots
PLANWORK (GROUPPPP(RGROUP)+LL) = 1000* JOBTYP + TASK
STATE2(NUMB(RGROUPLL)) = 1

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

600 NMACH=0

RETURN
END

13. 2 8

SUBROUTINE N28WORK
INCLUDE 'ICFAB.DCL'
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INTEGER GROUPXXXY,I,JK,A,B,RGROUPHH,W,XXXZ(28),SS,DD,R,S,RRII,
& JKK,LL
REAL T,PNWAIT(28)

GROUP =28
XXXY =NMACH
I1=0

JJ=0

P=0
KK =
LL =

— X
© o

SS=
0
360* 24* 60

o

B
T
DO = 1,NGROUP
NWAIT(1) =0

XXXZ() =0
ENDDO

DO = 1,QQ(GROUP)
IF (MMM(NU(GROUPI)) .NE. 0) THEN
IF ( WAIT(NU(GROUPI)) .GE. CMACH(GROUP)) THEN

DOJ=12
DOK =190 \\

A = 1000* J+K
IF (A EQ. NU(GROUPI) ) THEN
JOBTYP=J
TASK =K
ENDIF
ENDDO
ENDDO _/
RGROUP = ROUTE(JOBTYRTASK+1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J= 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN
HH =J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
W = 400000 + NU(GROUPI)*10 + 1
IF (TTT(W) .LT. T) THEN
T=TTT(W)
=1
JJ=HH
ELSE
T=T
n=1
N=1
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO

IF (1l .NE.0) THEN
GOTO 100
ELSE
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DO | = 1,QQ(GROUP)
IF (MMM(NU(GROUPI)) .EQ. 0) THEN
IF ( WAIT(NU(GROUPI)) .GE. CMACH(GROUP)) THEN
IF (P.LT. (WAIT(NU(GROUPI)) * TMACH(GROUP))) THEN
/~ DOJ=12
DOK =1,90
A = 1000* J+K
IF (A .EQ. NU(GROUPI) ) THEN
JOBTYP=1J
TASK =K
ENDIF
ENDDO
KENDDO _/
RGROUP = ROUTE(JOBTYPTASK +1)
CALL ASSISTMACH(RGROUP)
HH=0
DO J= 1,0RIMACHS(RGROUP)
IF ( STATE2(NUMB(RGROURJ)) .EQ. 0) THEN
HH=J
ENDIF
ENDDO
IF (HH .NE. 0) THEN
P=WAIT(NU(GROUPI)) * TMACH(GROUP)
KK =1
LL = HH
ELSE
P=P
KK = KK
LL=LL
ENDIF
ENDIF
ENDIF
ENDIF
ENDDO
NWAIT(28) = P

IF (KK .EQ.0) THEN
GOTO 300
ELSE
~ DOI=10RIMACHS(2) ~
IF (STATEL(NUMB(2,)) .EQ. 0) THEN
XXXZ(2) = 2
ENDIF
\_ ENDDO Y,
IF (XXXZ(2) .NE.0) THEN
 IF(MMM(NU(2,3) .EQ. 0) THEN )
IF (WAIT(NU(2,3)) .GE. 6) THEN 2
NWAIT(2) = WAIT(NU(2,3)) * TMACH(2)
ENDIF
ENDIF

- ENDIF _/

DO = 1,0RIMACHS(22) ™
IF (STATEL(NUMB(22,1)) .EQ. 0) THEN
XXXZ(22) = | 22
ENDIF
ENDDO _

92



DO J=1,0Q(22)
IF (MMM(NU(22,J)) .EQ. 0) THEN
IF (WAIT(NU(22,J)) .GE. 6) THEN
IF (NWAIT(22) .LT. (WAIT(NU(22,9)) * TMACH(22))) THEN
NWAIT(22) = WAIT(NU(22,J)) * TMACH(22)
ELSE
NWAIT(22) = NWAIT(22)
ENDIF
ENDIF

ENDIF
@DDO /
ENDIF

DO = 1,NGROUP
IF (SS.LT. NWAIT(1)) THEN
SS=NWAIT() 222 28
ELSE
SS=SS
ENDIF
ENDDO
DO = 1,NGROUP
IF ( SS.EQ. NWAIT(1)) THEN
D

IF (XXXZ(22) .NE.0) THEN \

ENDIF

ENDDO

IF (DD .EQ. 28) THEN
GOTO 200

ELSE
GOTO 300

ENDIF

ENDIF
ENDIF

100 _ DOl =1.2
DO J=1,90
A = 1000%|+J
IF (A .EQ. NU(GROUPII) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO
ENDDO

DO = 1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF (TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN

B=B+1

IF (B .LE. CMACH(GROUP) ) THEN
MMM (NU(GROUPRII)) = MMM(NU(GROURII)) - 1
WAIT(NU(GROUPRII)) = WAIT(NU(GROURII)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = JJ
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))
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IF (MMM(NU(GROUPII)) .EQ. 0) THEN
S=0
DOJ=29
R = 400000 + NU(GROUPRI1)*10 + J
IF(TTT(R) .NE.0) THEN
S=J

ELSE
s=s
ENDIF
ENDDO
IF (S.EQ.0) THEN
/ R = 400000 + NU(GROUPRII)*10 + 1 \
TTT(R)=0
ELSEIF( S .NE. 0) THEN
DOK = 1,51
R = 400000 + NU(GROUPRIY*10 + K TTTY (1)
RR = 400000 + NU(GROUPRI1)* 10 + K+1
TTT(R) = TTT(RR)
ENDDO
\_ TTT(400000 + NU(GROUPRII)*10 + S) = 0
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROUPXXXY)) = 1

STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
STATE2(NUMB(RGROUPRJ)) = 2

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

GOTO 300

200 DOI=12
DO J=1,90
A = 1000%|+J
IF (A .EQ. NU(GROUPKK) ) THEN
JOBTYP=1
TASK  =J
ENDIF
ENDDO
ENDDO

DO =1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF ((TRNSFR(2) .EQ. JOBTYP) .AND. (TRNSFR(3) .EQ. TASK)) THEN
B=B+1
IF (B .LE. CMACH(GROUP) ) THEN

94



IF (MMM(NU(GROUPKK)) .EQ. 0) THEN
MMM (NU(GROUPKK)) = 11
ELSE
MMM (NU(GROUPKK)) = MMM(NU(GROUPKK)) - 1
ENDIF
WAIT(NU(GROUPKK)) = WAIT(NU(GROUPKK)) - 1
TRNSFR(1) = XXXY
TRNSFR(2) = JOBTYP
TRNSFR(3) = TASK
TRNSFR(5) = LL
TRNSFR(6) = TIME + TMACH(GROUP) + TIMEEF(GROUP)
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))

IF (MMM(NU(GROUPKK)) .EQ. 11) THEN
S=0
DOJ=1,9
R = 400000 + NU(GROUPKK)*10 + J
IF(TTT(R) .NE.0) THEN
S=J

ELSE
S=S
ENDIF
ENDDO
IF (S.EQ.0) THEN
R = 400000 + NU(GROUPKK)*10 + 1

TTT(R)=TIME TTT(Y(1)
ENDIF
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROUPXXXY)) = 1
STATE3(NUMB(GROUPXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROUPXXXY)) = NMWT(NUMB(GROUPXXXY)) - TMACH(GROUP)
STATE2(NUMB(RGROUPLL)) = 2

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0

TRNSFR(3) = GROUP

TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

300 NMACH=0

RETURN
END

14.

SUBROUTINE NSECOND(GROUP)
INCLUDE 'ICFAB.DCL'
INTEGER GROUPXXXY,I,W,V,A,B
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15.

XXXY = NMACH
B=0

DO =1, LSIZE(GROUP)
CALL REMOVE(LFIRST,GROUP)
IF ( TRNSFR(7) .EQ. XXXY ) THEN XXXY
W = TRNSFR(2)
V = TRNSFR(3)
A =1000*W +V
B=B+1
IF (B .LE. CMACH(GROUP) ) THEN B
WAIT(A) =WAIT(A) -1 1
TRNSFR(1) = XXXY
TRNSFR(2) =W
TRNSFR(3) =V
TRNSFR(9) = TIME
CALL FILE(LINCR,JOB(GROUP))
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ELSE
CALL FILE(LLAST,GROUP)
ENDIF
ENDDO

STATEL(NUMB(GROURXXXY)) =1
STATE3(NUMB(GROURXXXY)) = TIME + TMACH(GROUP)
NMWT(NUMB(GROURXXXY)) = NMWT(NUMB(GROURXXXY)) - TMACH(GROUP)

TRNSFR(1) = TIME + TMACH(GROUP)
TRNSFR(2) = 1.0
TRNSFR(3) = GROUP
TRNSFR(4) = XXXY

CALL FILE(LINCR,LEVENT)

RETURN
END

SUBROUTINE ASSISTMACH(GROUP)
INCLUDE 'ICFAB.DCL'

INTEGER GROUPI

REAL TIMEA, TIMEB

TIMEA =0.0
TIMEB = 0.0
SELECT CASE (GROUP)
CASE (3,21,23,25,26,27)
TIMEB = 30
CASE (6,9)
TIMEB = 20
END SELECT

TIMEA =TIME + TIMEB + 60
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DO = 1,0RIMACHS(GROUP)
IF ( STATEL(NUMB(GROUPI)) .EQ. 0) THEN
STATE2(NUMB(GROUPI)) = 0
ELSEIF( STATEL(NUMB(GROUP))) .EQ. 1) THEN
IF ( STATE3(NUMB(GROUP))) .LE. TIMEA ) THEN
STATE2(NUMB(GROUPI)) = 0
END IF
ENDIF
END DO

RETURN
END
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